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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

25.0

22.5

20.0

17.5

15.0

12.5

10.0

7.5

5.0

day

—&— DUC

o * o
s | s
- N * N
1
1
) | ﬁ _
1
1
o Te)
- o~ o~
N N
1
1
- * — - -
1
- % ;
(S) \ o \
= | o
N N
J % : =
\
\
1 \/
A
- Lo 3 [fe]
~ ~ .
— V‘ —
1
1
X 8}
“ X % 3 s
1 [/ x S
O =2 2
1 o © *
% £L
)
Py o o = oo
o N O O o
o 1 Y W ow o
6 i 0 ++
— 1 —
> 1
1
1
/.
o 1)
i N = o X
~— i ~—
1
1
- :0 m
- o o m
=) =
- -
- — * — 4
$ ' 3
1
1
1
Lo 1 Te)
® ~ X ~ X
1
1
U : ¥
T o ﬂ_
T T - . ===
—— —
o o
T T T T T T T T T T T T T T T T T T T T
< N o N < o o o o o o o o 1B ©o 1’ O 1’ o W
o o S o o S S S S S S S S K b O & KN B

350 -
300 -
250 -
200 -
150

25.0

22.5

20.0

17.5

15.0

12.5

10.0

7.5

5.0

day

—&— FRV

25.0

22.5

20.0

17.5

15.0

12.5

10.0

7.5

5.0

day

—@— FRC

25.0

22.5

20.0

17.5

15.0

12.5

10.0

7.5

5.0

day

fw

700 -
600 -
500 -
400 -
300 -
200 -

2.2+
2.0 A

14
12
10 ~

25.0

22.5

20.0

17.5

15.0

12.5

10.0

7.5

5.0

day



Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AW W
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PE6AW
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P6AW_W, Day=24 (2025-04-29)
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P6AW

BATRERA (2.08) , S
FRAVERS STMETRR (648.0 :

BRIASERRIERE160. 0 ml.

Bria) | GEBERTIE (FD) | BB = (BH/HK) | XS ERE
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08:40 348 160.0 5| 1Ri%e08:40 B (RFEMEREE)
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13:50 348 160.0 5| 1Ri%e13:50 B (RAERER)
14:55 348 160. 0 5| {Ri%e14:55 Bz (REEREE)
21t+]2436.0 (7:%) 1120.0 3 HKEC: 2308.0, PH: 6.5

160.0), FIREKRREERE
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PE6AW

BATHRERA (2.04) , B
FEREA LR STMMETRTT (658.0 :

BRIASERRIERE160. 0 ml.

BFE) | GEBRTK () | Bl (EAH/ER) | XS R

07:25 348 140.0 = {RRiB007:25 B (RFAKEE)
08:25 348 140.0 =] {Ri%e08:25 B (KAL)
09:25 348 140.0 = BRi1B009:25 B (GRFAEREE)
10:35 348 140.0 = {Ri%@10:35 B (RAERSE)
11:40 348 140.0 = BRi%e11:40 B (GREAERSE)
12:45 348 140.0 5| 1Ri%e12:45 B GREEREE)
13:50 348 140.0 5| {Ri%013:50 B (RAERKSE)
14:55 348 140.0 =] {Ri%e14:55 B (REAHRESE)
=it 2784.0 (8%) 1120.0 3EUGHIKEC: 2263.0, PH: 6.5

160.0), FIREKRREERE
EOREBIRTC R IRAE R 2 Y (348 vs 304.0))
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P il el ettteial ettt sheteleltld shelalellotl sl bkt SLel bbbl bbbl LEL LY ELTETEL L 6000
VI, V0, FRV, ET — VI, V0, FVI, FVO, FRV, ad jFRV, ET 5399
100 - =
00 L 4000 ©
E
50 1 sga. 2000 &
1200 la 1200 653 &
I46 Warning: lcol [FVI',| "FVO’'] missing I51
0 + -0
800 4w i — MW P#30.0
T FRV maxM
£ 600 - L 27.5
©
r =
— 400 - L 25.0 =
E
= 200 - 22.5
[
1.0 20.0
U
0.8 -
0.6 -
0.4 -
0.2 - , 1
Warning: lcol ["WC1',  "WC2'] missing
0.0
TargetEC=2600. 0,  TargetSetEC=2263. 0 > ECB*10% [+
® ECC
2400 -
€ & & &
___________________________ 0 R o A g M oy < Y AN SN NP
2200 - o
2000 -
7.0 1 TargetPH=6.5, TargetSetPH=6.5 %—  PHB10% [*
® PHC
B.5 fmmm e e e 3¢ % ¢ S YR WU UV S
e o ° e o
°
6.0 -
400 1 : I !
= Bylnit @D26 04:25: ET=1155 Fg=1280.0 Ro=142.0 - 2000
5 300- : 1500 =
o I @ ) - o
E 200 - ! ® : © E
> : - 1000 =
— 100 - : - 500 S
- ) o—o—o1—@ °
PN . ol o 0
2083170 17 2 | 3] 4] 561 7] 8 T0 | 11 [ 12 | 13| 14 | 15 ] 16 | 17 | 18] 19 ] 20 | 21 | 22 | 23
o~ || B | B | B[ B | K| B | B B 5 5 5 B 5 5 5 B 5 5 5 B I 2000
c 1 1 <
< 3001 ByEt @22 18:37: ET=1306 Fg=1280.0 Ro=nan ! 1500 3
< 2007 L 1000 <
E o
— 100 - - 500 S
- o - e & ©
V= Pt V=N D 0
20830 17 2 | 3] 4 | 561 7] 8 T0 | 11 | 12 | 13 | 14 | 15 ] 16 | 17 | 18 ] 19 ] 20 | 21 | 22 | 23
5 Z= 2= B | & | & | & | B | & | B = =3 & 5 | 5 5 5 | BB |2 | f5 | B |%%| B5 |2000 5
< i 1 c
= %907 ByWoFy @D26 03:25: ET=1053 Fg=1120.0 Ro=32.0 1500 =
o I & e e © <
< .
< 200 : & —®—*® |00
— 100 - : - 500 S
- ) o—o—o—0—o 3
1.0 PN PN el o o 0
: 0 | 1 2 | 3| 4] 5] 6178 T0 | 11 [ 12 | 13 ] 14 ]| 15 ] 16 | 17 | 18] 19 ] 20 | 21 | 22 | 23
s BE B BB | B % %% % AR A A AR A A AN AN AR AN R RN
0.6 -
0.4 -
0.2 -
0.0
1500 - | ¢
o | _obs
—@— PPFD_obs
1000
500 -




23. 00 A

22.75

22.50

22. 25 A

22.00

21.75 A

21. 50 A

M_W

T
500

T
600

760 860
m=680,n FV0=0

T
900

T
1000

22.8

22.6 -

22. 4 -

22. 2 -

22.0

—— MW

T
680

6é5 660
m=945,n FV0=0

23.0 A

22.9 -

22.8

22.7 -

22.6 -

22.5

22. 4 -

—o— MW

945

950 955

22.

22.

22.

22.

21.

21.

22.

22.

22.

22.

m=465, FV0=0

—o—

M_w

T
465

4%0 4%5
m=745,n FV0=0

—o—

M_W

T
745

T
750 755

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

m=530, FV0=0

——

M_W

T
530

555
m=810,n FV0=0

T
540

——

M_W

T
810

T
815

820

22.

22.

22.

22.

22.

22.

22,

22.

m=610, FV0=0

—0—

M_W

T
610

615
m=880,n FV0=0

T
620

—— MW

T
880

T
885

890




